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Contrast between Celsius Temperatures and Fahrenheit Temperatures

HIRRE | BURZ | IR | RIE | BIREE | RIRE | SRR | PR | BURE | IR | SIRE
OF OC OF OF OC OF OC OF OC OF OC

14. 00 15 59. 00 11 -11.67 36 2.22 61 16.11 86 30. 00
15. 80 16 60. 80 12 -11.11 37 2.78 62 16. 67 87 30. 56
17. 60 17 62. 60 13 -10. 56 38 3.33 63 17. 22 88 31.11
19. 40 18 64. 40 14 -10. 00 39 3.89 64 17.78 89 31. 67
21.20 19 66. 20 15 -9.44 40 4. 44 65 18. 33 90 32.22
23.00 20 68. 00 16 -8.89 41 5.00 66 18.89 91 32.78
24.80 21 69. 80 17 -8. 33 42 5. 56 67 19. 44 92 33.33
26. 60 22 71. 60 18 —7.78 43 6.11 68 20.00 93 33.89
28. 40 23 73. 40 19 —7.22 44 6. 67 69 20. 56 94 34. 44
30. 20 24 75.20 20 —6. 67 45 7.22 70 21.11 95 35.00
0 32.00 25 77.00 21 —6.11 46 7.78 71 21. 67 96 35. 56
1 33.80 26 78. 80 22 —b. 56 47 8.33 72 22.22 97 36. 11
2 35.60 27 80. 60 23 -5.00 48 8.89 73 22.78 98 36. 67
3 37. 40 28 82. 40 24 —-4.44 49 9.44 74 23.33 99 37.22
4 39.20 29 84. 20 25 -3.89 50 10. 00 75 23.89 | 100 | 37.78
5 41.00 30 86. 00 26 -3. 33 51 10. 56 76 24.44 | 101 | 38.33
6 42.80 31 87.80 27 —-2.78 52 11.11 77 25.00 | 102 | 38.89
7 44. 60 32 89. 60 28 -2.22 53 11. 67 78 25.56 | 103 | 39.44
8 46. 40 33 91. 40 29 -1. 67 54 12. 22 79 26.11 | 104 | 40.00
9 48. 20 34 93. 20 30 -1.11 55 12.78 80 26.67 | 105 | 40.56
10 50. 00 35 95. 00 31 —0. 56 56 13. 33 81 27.22 | 106 | 41.11
11 51.80 36 96. 80 32 0. 00 57 13.89 82 27.78 | 107 | 41.67
12 53.60 37 98. 60 33 0. 56 58 14. 44 83 28.33 | 108 | 42.22
13 55. 40 38 100. 4 34 1.11 59 15. 00 84 28.89 | 109 | 42.78
0
14 57.20 39 102. 2 35 1. 67 60 15. 56 85 29.44 | 110 | 43.33
0
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H B8 3647 = B A 15 KU E (Celsius temperature, it 5 ¢ 2847°C). #HHEE
(Thermodynamic temperature, ic5 T, H{7 K). #[KiE ¥ (Fahrenheit temperature,
iC5 tF, 8 £z °F). 2 K /Z (Rankine temperature, i¢ 5 TR, # fi °R)f1 5 [Kif Z(Réaumur
temperature, it 5 tRé, H.{7°Ré), NI BHE AW T:

a 'C =(4/5) a °Ré = [(9/5) a +32] F
b °Ré = (5/4) b °C = [(9/4) b + 32] F

¢ °F = (5/9)(c - 32)'C = (4/9) (c - 32)°Ré

d C = (d +273.15) K

e K = (e - 273.15)C = [1.80x(e - 273.15) + 32] F = (9/5) e °R

Fahrenheit Celsius | Fahrenheit Celsius | Fahrenheit | Celsius | Fahrenheit Celsius |
472 | 44 | 76 | 22| 32 I 716 | 2 |
454 | 43 | 58 | 21 | 338 |1 | 734 |23 |
436 | 42 | 4 20 | 356 |2 | 752 | 24 |
418 | 41 | 22 |19 | 374 |3 | 77 |2 |
40 | 40 | 04 |18 | 392 |4 788 |26 |
382 | -39 | 14 |7 | 41 s 806 | 27 |
364 | 38 | 32 | -6 | 28 |6 | 824 | 28 |
346 | 37 | 5 15| 46 |7 | 842 | 29 |
328 | 36 | 68 | -14 | 464 |8 | 86 |30 |
31 | 35| 86 | -13 | 482 |9 | 878 | 31 |
292 | 34 | 104 |12 | 50 10| 89.6 | 32 |
274 | 33| 122 | -1 | 518 | 11| o14 |33 |
256 | 32| 14 10| 536 | 12| 932 |34 |
238 | 31 | 158 |9 | ss4 |13 | 95 35|
22 |30 | 176 | -8 | 572 | 14| %8 |36 |
202 | 29 | 194 |7 | 59 15| 986 | 37 |
184 | 29 | 202 | -6 | 608 | 16 | 1004 | 38 |
166 | 27 | 23 s 626 |17 | 1022 |39 |
148 | 26 | 248 | -4 | 644 | 18 | 104 |40 |
43 | 25| 266 | 3| 662 | 19 | 1058 | 41 |
12 | 24 | 284 | 2| 68 20 | 1076 | 42 |
94 | 23 | 302 |1 | 698 | 21 | 1094 | 43 |

Formulas: C=(F-32)*5/9, F=(C*9/5)+ 32



